
		 	Adding 9
 
 
Add 
9
 to these numbers. 
Adding 9 is the same as 
 
+10
then 
–1
 

[bookmark: _GoBack]
	18 + 9  =       18   + 10  =  _____                    ___  -  1    =  _____  
	
	41 + 9  =     41   + 10  =  _____ 
                     ___  -  1    =  _____  

	76 + 9  =       76   + 10  =  _____                    ___  -  1    =  _____  
	
	62 + 9  =     62   + 10  =  _____ 
                     ___  -  1    =  _____  

	21+ 9  =        21   + 10  =  _____                    ___  -  1    =  _____  
	
	86 + 9  =     83   + 10  =  _____ 
                     ___  -  1    =  _____  









		 	Adding 11
 
 
Add 
11
 to these numbers. 
Adding 11 is the same as 
 
+10
then 
+1
 


	17 + 11  =     17   + 10  =  _____                    ___  + 1    =  _____  
	
	53 + 11  =   53   + 10  =  _____ 
                     ___  + 1    =  _____  

	81 + 11  =     81   + 10  =  _____                    ___  + 1    =  _____  
	
	62 + 11  =   62   + 10  =  _____ 
                     ___  + 1    =  _____  

	39 + 11  =     39   + 10  =  _____                    ___  + 1    =  _____  
	
	41 + 11  =   41   + 10  =  _____ 
                     ___  + 1    =  _____  






